STXY
BENy7170=IN=5

m X

HEI—R K93229 » K93230

8 ® JCRO850WKT-JCRO850WKN

R@I—K K93227 - K93228

g2 1 JCRO0850WMT-JCR0850WMN

REI—K IK93231 - K93232

8 I JCRO0850WDT-JCR0850WDN

SBonftifa®iz  URBO0840-07

- BB AN DIRIE, I EPmEaEITiZE CER LY,
° ?ﬁ%‘é‘[ﬂuu@—é‘[ﬂd& YK tyl\,ﬂﬁJbo)a}@gEUﬂb‘Ebgjo

HINEHIHIA Y —



il

&

@D TEXIZDONT
1. WEOTEXORG, FREES CEK 7
X\,
O #® & &
@ IEAHAEI (B
® 5 &
@ #HEES
® M@ E54

HPRERBEARBRRRES JUEKCIEGFO
R—LTL—PZRRLTOET,

2. {HE@oH - ik, PIToc&xkLTEBY
E
BHevaigd #HAAENT W S EKISEE
Heick v B2 55

N7yt Bicashsific,. BETE
A L7 W ER S

HEWROBIBERICONT

Z ORFOFERTSEOMEER HBE) @,
BEITBU0RIETT, XL, HBERAT
B o Thy BHIELICD WT IS & % %
SETWIELGGEb DD ET,

FEAEER &L 0 4G IR BRI i LR O HAER T
BT LETH, HHEERZEBRTHh > ThH, M
s 0 TEFES B - 1CBES R B X UMmig o
WTIHESE TR EE T,



JCR0850W
TU—L4 - Gk

135384
085-0032-160

RHEs HMEES i it % ) %K i
1 7o v bh7L—4aCP 1
2 130130000M 7Lr—F 1
3 BSZ08020 a#yELE T M8X20 5
4 NSP08 aFERATYvIFy b 4 M8 5
5 1405040004 ERy bo¥A 7CP 1
6 0793823004 Ny vy 2
7 BH12030 *+ v 7B 10.9 MI12x30 1
8 BZ12030 Rk 88 MI12X30 3
9 NZ12 F+v b 8 2¥2 M2 4
10 WSA12 SNEHAFX 3T MI2 4
11 ONB6 7Y —2=y 7N B M6 2
12 °— +CP 1
18 | 079385000M Fr—k 2
19 | 055032000M A7 xRN 88 M8X1H 4
20 NSP08 afyRFYyvrFy b 4 M8 4
24 | BZ12035 Aok 88 MI12X35 4
25 042783600M Ty Yy ;12 6
26 | NZ12 F+v b 8 2¥a2 MI12 2
27 WSAL2 SNEFH R 3aY M2 4
28 1434980004 757y +CP L 1
29 1435000004 754y FCP R 1
30 | BSP08020 aHFSWyFKRLr T M8X20 4
31 044097200M 7y ¥y ;8 4
32 1346900000 FYFH/SS—T—} 11 A7vav




JCRO0850W

TU—L « &= p

EA BB
22 E
€5 5|8
O[O | O
SOOI
ol
OIV0O
I R
ﬁln&un\u
=
¥
;U
[ce]
=
og o)™
o~
X+
mv
B |2
—
AN
PN Bena
SN
148 X
A&
AIRIR
Nin|n
i
~
# 2
|
SHHE
% 3|55
— | M| Z
iy
HE oo | <t |0
.mm333
MR




JCR0850W
HAF=a0Uay

065-0032-100
RUEs| WMEES 0 i = PR A% fi# S
1 1199850004 V7—-19 ;B2-311 1
2 1300850004 Y+ 7 FCP; 13T 1
3 040608401M 7w ¥, 13X45 1
4 NZ12 v b 8 2v2 M2 1
5 WSAL2 NxRHFEHF R 3Ty M2 1
6 KFC08070280 ~NAagFE— Yauwi §XTX2 1
7 JCS205LLU 2=y ba3YXRTY S CS205LLU 1
8 055149300M N TS Y 2
9 055474000M B xEINME 88 M8X20 3
10 NSP08 AFIRTYVITFy b 4 M8 3
11 JCS204LLU 2=y bavuxyy) vy CS204LLU 1
12 JPFL204G WA TSP kY PFL204 2
13 BSZ08020 aFyEwb 7 M8X20 2
14 NSP08 aAaHyARTYVTF v b 4 M8 2
15 129706000M Fv¥a vy —ALCP 1
16 081267000M Fvivava—5CP 1
17 DCO17 CHyvxm Yo 17 1
18 141146000M oy N 1
19 085350000M 27y T 1
20 085351000M 5 — 1
21 NNF10 75 vVFAaviy b MIO 1
22 WRAI1L0 ESHH R M0 1
23 PC032016 7Yy 3.2X16 1
24 PC032032 71y 3.2%X32 1
25 057788100M DA 1




JCR0850W
NAF=Za0Ya7s

13539-1
065-0032.100-
RiiEsS HmEFES #B o % ) 1% (i
26 1199920004 27 a’s vy b 50—40T 1
27 LA50056 0—5F=—>r b50X56L 1
28 120110000M 7=UAHxzCP; A 1
29 120113000M =044 zCP ;B 1
30 131599000M Frv— b 1
31 059483000M AU FRFEIVE 88 MEX25 2
33 NSP0§ AHGRATYIYTF b 4 M8 4




JCR0850W

a—JIbo Ko7

RES HaES # 5 % PR A fi& &
1 1447710004 75y bu—3CP 1
2 1199980004 27wy b 50—22T 1
4 094796000M 75 v YCP 1
b} 043224101M N4 TS50V 2
6 JCS206LLU 2=y baygx7y vy CS206LLU 1
7 NN16 FAvvFry b M6 1
8 0590442006 T4 RI Ty ¥y 1
10 BSZ10025 afyFEr T MI0OX25 3
11 WSA10 NEYFHR 3TT MI0 3
12 129708000M F— b 1
13 129709000M #5—;30.6X8 1
14 094796000M 75 v YCP 1
15 043224101M NA TS5 2
16 JCS206LLU =y baIRTY vy CS206LLU 1
17 BSZ10025 aFyEr 7T MIOX25 3
18 WSAL0 NERYEHFR 3TY MI0 3
19 0590442006 FARI T v ¥ 1
20 NN16 FA4ovry b M6 1
21 000450000M Ao FxFENE 8.8 MIOXZ0 3
22 NSZ10 afyFy b 8 2¥a MIO 3
23 WSA1L0 NEAHFEHFE 3Ty MI0 3
24 0851321004 o—CP ;1 4
25 0851343004 o —JVCP; 2 3
26 0851351004 o —CP ;3 3
27 079507100M 75 v YCP 10




JCRO0850W

o=V K97

065-0032-700

RiiEs HamES R Gt % 5 Bk 1
28 | 081235000M 7% v YCP 10
29 | 055149300M NA TG 18
30 | JCS205LLU 2=y b3YNTY ¥y CS205LLU 20
31 BSPZ08020 A ySWyEEr 7 M8X2 54
32 | 0815250000 Ty a2y Ny b 6X6 20
33 | DC025 Chzbrg Yo 25 10
34 | 0793461004 Ny Dy 1
36 | 0793472004 NG Ty 1
36 | BSPZ08030 aHISWY FHKL b 7T M8X30 6
37 | 079324300M R7al oy ;22T 12
38 | 079326200M AZ7—= A 10
39 | 040608401M 7y ¥ 13X4.5 10
40 | NZ12 Fv b 8 2¥a MI2 10
41 | WSA12 NAYFH X 3T M2 10
42 129710000M Fv¥av7—uCP 1
43 | J6006LLU F—Ax7 Yy 6006LLU 1
44 | DHC055 Chsbrxw 77 55 2
45 105611000M A7 vy HAX 25X 200 1
46 | 043341501M AT T RT— 1
47 | NZ12 Fv b 8 2¥a MI2 2
48 1050410000 Fv¥avu—35CP 1
49 | DC012 CHzrAw Yo 12 1
90 129711000M FV¥avT—A4LCP 1
51 081741000M Fv¥av7—4LCP;B 1
52 | 079334000M Ty Yy 21X1.6 2




JCR0850W

O—JVo K97

085-0632-100

RS BmEFES #B G % i % fiE %
53 | PC032032 JYEY 382%X32 2
54 | 081742000M 2y K 1
95 129712000M = 1
56 | 085350000M RFY VT 2
57 | 085351000M A7 — 2
58 | WRAILD Es#ax MO 2
69 | PC032016 7Y EY 32X16 2
60 | NNF10 75 vYF4uarFy b MO 1
61 | 081267000M Fvv¥avu—35CP 3
62 | DCO17 Casvrrg vo 17 3
63 | 079331300M FY¥avIFr—+t 1
64 | 044097200M 7y ¥y ;8 2
65 | BSPZ08025 IHFISWYy FEREE T M8X25 2
66 | LA50141 o—35F=—Y bOX141L 1
67 | LAS0042 o—-5F2—r 50xX42L 1
68 | LA50126 o—35Fx—Y BOXI126L 1
69 129718000M A7l y b 50X20T 1
70 | 096757000M ¥ 45 25.56X0.6 -
71 088114000M A7 = 1| JCRO8OWT




JCR0850W
a—4%

13541-3
T6E-0032-1004

REES HmES # o &% i) {E%k 18 %
1 1297131004 o—%CP 1
2 JCS207LLU A=y bETNTY S CS20TLLU 2
3 1297140004 R 2
4 129715000M A 2
5 1352630004 757y b 1
6 BSZ08025 aHgELE T MEX25 9
7 BSZ08030 agyRVE T MEX30 8
9 044097200M Ty e ;8 1
10 | NSP08 AHFZRATYV T Fw b 4 M8 1
11 | WSA08 INRHH X 3y M3 16
12 1404321004 R 7 L —s¥CP 1
13 | BSZ10025 aFmgENr T MIOX25 4
14 | 044098500M Ty ¥y 10 4
15 WSAIL0 NRYFAR 3Ty M0 4
16 | LA50107 o—5F=—Y bH0X107L 1
17 1318060000 VoA 4
18 | NN16 FA4ov+y b M6 1
19 | 0590442006 Fa4RT Ty ¥y 1
20 1297190004 R7vly FCP; 50X14T 1
21 | DCO020 Chgrrg Y7 20 1
22 1297440004 Z27aly k28T 1
23 1297450004 ¥ —F b wVFCP 1
24 | KBB-5020A H—RY 547 Y) 7 A BOXB5X20 1
25 | 066208100M 7 v ¥y ; B1X3.2 1




JCR0850W
A—%

13541-3
065-0032-1004

REES Hm&FS #B o i) {E%% fié &l
26 | DCO50 ChHsrrg v 50 1
27 | 0812320000 Y — R b MEX30 5| FlEdr
28 | NP06 AFY Iy b M6 5| Fladyr
29 | 074891300M AZ— 1
30 | B4630-1012 JawgFRaNF 10X12 2
31 | 0858590000 gy ¥a 1
32 1 097618000M ¥4 11X1.0 o
33 | BJ10035 ¥Z%v v B 109 MI0OX35 1
34 | NNF10 75 vVFAf4aviy b MIO 1
35 | 0988800000 A5 35.56X0.6 -




JCRO0850W
EvyoF7v7

13542-3
065-0032-1005

Riigs H&ES #B G % r 8% ] =l
1 1297201004 Yy 77 w770 4CP 1
2 1337182004 +4 K7L —FCP: R 1
3 1337172004 A FFL—-+CP, L 1
4 1297230004 7 v—+CP 1
5 BSPZ08020 aHISWyHFHELE T MEX20 10
6 JCS204LLU L=y ba3uN7Y s CS204LLU 1
7 072968100M Ty ¥y ;14 1
8 WSAl4 NAHH X JTT M4 1
9 NZ14 Fv b 8 2¥a M4 1
10 1297240004 Y7 b 1
11 129725000M A7 vy ;50227 1
12 | KFC08070380 |\ ~favF— YJaw=wi §XTX38 1
13 | TRK08016 6FA%xY 109 7#FI M8EXI1$ 1
14 | NSZ08 aFgyFo b 8 2va M8 1
15 1297260004 73 +CP,; L 1
16 1297270004 77% v +CP; R 1
17 | JCS205LLU 2=y baYNFTY s CS285LLU 2
18 | BSZ10025 aFyEr T MIOX25 4
19 | 044098500M 7y ¥y ;10 4
20 | WSA10 NRYFHER 3FY MIO 4
21 129728000M A5 — ; 26X80 1
22 120066000M R 1
23 | JPF206G N TS vV = PFR6 2
24 | JCS206LLU 2=y bEUNRTY S CS2086LLU 1
25 | BSZ10020 aFyEur T MIOX20 3

|
T




JCRO0850W

Evyo7vT
HHEE| HEE S % & & % T ﬁ =
% | WSAL0 RFA & 879 M 3
27 079299100M VZ7—1 ;45" 1
28 | 079300100M | V7 —1 ;8" 1
29 VLB040 V~Xuh LB—-40 ALr vy 1
30 | 085801200M | # oA Gy s Fy b MOXI 1
31 | 079297300M | 7> > = vCP 1
32 000034100M SiRBlF: v g v — Y 1
55 | 0B1847000M | 7 v v v 17X 16 1
51| PC032032 U CY 3.2x3 1
35 DCO012 ChHsvxo Yo 12 1
36 079302000M 27Y v H 1
37 BX108070 Aubd 109 Er MS8XT0 1
38 WRAO8 ESH¥HER M8 2
59 | 079301100M | # % 1
40 NSZ08 afFyFe bt 8 2¥a2 MS§ 1
41| 1319960004 | €92 7y T A e 1
12| 1319980000 | T L7 L -+ 1
43 CP06016 +F+NaxyY M6X186 2
44 NNF06 75 vV A4 arvF+y b M6 2
5| 1181490000 | =% M8 3
6| 0591440000 | 79 A o 2
| 085222100M | 5—575 5 va 13
1 | BSPZ08020 | 2 #SSWUEALE T MBX20 52
50 | 1297300004 | 5 £~ —CP 4
51 | 0852240006 | 54 20
52| 1050261006 | 54 i 70° 8
53 | BSZ08055 =5 R R T MBXES %
54 NNF08 75 v+ 4 vy b MS§ 28
5b 044097200M To¥y ;8 28
56 | 0792824004 | 71 & 1
57 BJ08020 H5% %y 7B 109 M8X20 4
58 WSAQ08 NERYFEHTAX 3T M8 4
59 NSZ08 aHFyFv b 8 22 M8 4
60 JSBX0126LLU | == b3 o7 v SBX0126LLU 4
61 DCO012 CHs b2y Y7 12 4
62 1297310004 DN 1
63 JPFL204G NA 75 Y kv PFL204 3
60 | JCS2ALLU | a=v h30~7 U7 CSIWALLU 2
65 057788100M DA 1
66 PC050036 7YY 5X36 1
67 | 08526100M | 75> 9 1
68 | BSPZ08025 | S A SSWU AL 7 MSX2 2
69 | BSPZ0S020 | 9 #SSWYE AL T MBX20 2
0 | 085137000M | 7 v ; 13%5.2 1
71 WSA12 NEFH X 309 M2 1
72 NZ12 +v b 8§ 2va2 MI12 1
75 1032960004 | 54 7L —rOP 2
74 BX10070 Kb 109 MI10XT70 2
75 044098500M Ty e ;10 2




JCR0850W
Evyo7v7T

13542-3
065-0052-1005

RiiEsS HmES &R a % i 1% 1
76 | NNF10 73vYF4arFy b MIO 2
71 | WSA10 NRHFAR 3T MIO 2
78 | 0640350000 FAA YTy va 8
79 | 065487000M ¥ b 35%X1.2 12
80 1032990000 7y ¥y ; 43X3.2 8
81 PC050056 7YY 5X56 8
82 | 094889200M AN 1
83 | BSZ08012 aFgy Rt T MEX12 2
84 | WSAQ8 NEYHER 3TT M8 2
85 1337720004 AH =5k ;L 1
86 1337730004 27—+ R 1
87 1285370000 =1 ; M8 4
88 | KMS009 THEOF e T 9 1




JCR0850W
EvyoUT bk

BATHE

13543-2
065-0032-10606

RES Bam&EF S B i # i) {5 1 =l
1 140437000M oy FCP 2
2 S5C0620 Yy 614 2
3 079422000M 74—z 10X40 2
4 079423000M £ 10x40 2
5 NSZ10 akgyFry b & 2¥a MIO 2
6 141147000M L/N—CP 1
7 129734100M 7—AuACP; R 1
8 075947300M AT 1
9 WRAZ0 Es AR M20 1
10 | PC040032 JYEY 4X32 1
11 | BSZ08045 aFyEvEr T M8X4S 1
12 | NNF08 73 vIF4uriy b M8 1
13 1297350006 A7 v HA0X 32X 270 2
14 | 043341501M RFY VITRF— 2
15 | NZ12 Fwv b 8 2¥a M2 4
16 | 0007220000 =F17 ;12 1




JCR0850W

= E 3474
085-0050-1004
REES| 85 &S ® & & @ ] ® %
1 1405870004 TN L 1
2 1405880004 TV R 1
3 BSZ10030 aHyFEnvr T MIOX30 4
4 [ 044098500M | 75 v+ 110 1
5 WSAL0 NRYFAER 3Ty MIO 4
6 | 0793TAI00M | A Ky Ss L 2
7 074132000M RN v 2.3X18X68 2
8 079335100M A7 2
9 1149876000 Vb5 910.6X0.27 -
10 BSZ10035 agsEnr T MIOX35 2
11 NSZ10 aHFEF b 8 2va MIO 2
12 WSEAIL0 NRFEHZR FTY MIO 2
13| 0793652004 | 75775 ¢ 2
14 | BSZ08075 akyEwr 7 M8XT5 2
15 NNF08 73vIF4urFy b M8 2
16 140589000M JYy—=wa.y FCP 2
17 BSZ08025 aFyEVE T MBX25 2
18| NSz08 S%3F ot 8 2va MBS 1
19 WRAO08 EIHFHFR M8 2
20 079424000M JA—7 TV 8X32 2
21 079425000M By 8X32 2
2| 079375100M | A7) 27 B 1
23| 063276000M | #)0 + ; M0 1
24 | NSZ10 aFsFy b 8 2¥a MIO 2

|
T




JCR0850W
FIASINA T 400

065-0050-1005

32

RES BmES 0 it 4 PR B % E
1 1442930004 NA VvF 4 v 77 1L—ACP 1
2 BSZ08020 aFyELE T M8X20 4
3 044097200M Ty Ve 8 4
4 NSP08 ARGARTY T F v+ 4 M8 4
5 140776000M FA 7T -k 1
6 BSZ08020 aAy RN T M8X20 1
7 NNF08 75 vVFrAvriy b M8 1
8 BH08016 F++vy 7B 109 M8XI16 1
9 NSP08 IHIRTY) T F w4 M8 1
10 1020460000 F47 1
11 055474000M Ay FFNE 88 M8X20 1
12 | NSP08 AHFFATYTF e 4 M8 1
13 | WRAOQ8 ESYHE M8 1
14 | TPA03006 FRYyEVRY A 3X6 1
15 140642000M TV 1
16 | BSPZ08020 afFSWyFKRr 7 MEX20 3
17 044097200M Ty vy 8 3
18 1406430004 #1— v WCP 1
19 1406470000 Y7k 1
20 WRA16 ESH¥FHER M6 2
21 PC040025 7YY 4X25 2
22 1441030000 Ty va ; 16X15 2
23 1311500000 TR Y= 2
24 140648000M Al 2
25 | BZ06016 Far 88 M6X16 2




JCR0850W
FOAIINA T 40T

065-0050-1005

Riigs| HaES il fn & i) {E%x ] %
26 | NP06 RSV VT F oy b M6 2
27 | ONC6 JYV=R=w 7V C M6 1
28 134367200M b7 A A4 FCP 1
29 | BSZ08020 aigy R T M8X20 2
30 | 044097200M Ty ¥y ;8 2
31 | NSP08 AFZRATY T+ b 4 M8 2
32 140649000M =7 1
33 | BZ06010 Foh 88 M6X10 2
34 | WS06 WNERFEH X 2T M6 2
35 1302860002 F¥ ;8T 1
36 140650000M A7 —;17.6%4 1
37 | J6003LLU R=7Y vy 6003LLU 2
38 | DHCO035 Chsrarv 7+ 35 2
39 | DCO17 Casrrw vo 17 1
40 | 0807851000 bT7A YT 1
41 TRK08020 642 U109 73 MEX20 1
42 | NSZ08 aFsFv b 8 2va M8 1
43 1302870004 A 7wy +CP; L 1
44 | J6003LLU K—=x7Y v 6003LLU 2
45 | DHC035 CHsrvxv 7+ 35 2
46 140651000M A5 —;17.6X10 1
47 140652000M F¥ ;34T 1
48 | KFD05050100 | ~f1 a9 %— Javk3F B5X5XI0 1
49 | 094946000M Ty ¥y 171.5X2.3 1
50 | DCO17 CHybxo Yo 17 1




JCRO0850W
fIAIINA T 40T

REE HEES = i & R B 1 =
51 | 090360100M v 18.5%0.1 3
52 | 1406531004 Y79 rCP 1
53 | BSPZ08020 aFZSWyFELE T M8X20 4
54 | 044097200M Ty ¥y ;8 4
55 1341740002 Y7 b 1
56 | 140650000M A5 —;17.5X4 1
57 | J6003LLU K—=~7 Y v 6003LLU 2
58 | DHCO035 CHorxy 7+ 35 1
59 | DCO17 CHsrvrw Yo 17 1
60 | 1441140000 P4 Fo—5F 2~ 40X100L 1
61 1434202004 F7A4 7 L—LaCP 1
62 | BSPZ08016 aXySWyEHELE 7T M8X16 4
63 | 1430330000 NG - VY FE—F 1
64 | CP05020 +FRoxY MbHX20 3
65 | 1442960002 Y7 b 1
66 PS040025 A7 v TEY 4X25 1
67 | 140658100M o—-5CP; 7 Fv 1
68 | JHFL2026 gvo =425y F HFL2026 1
69 | G20263 A4 Ny —i GAXBX3 2
70 | 140704200M 735y b 1
71 | BSZ08020 aHy R T MEX20 3
72 | NSZ08 aFyFy b 8 22 M8 3
73 | WSA08 NEHFH R 3Ty M8 3
74 | JCS203LLU 2=y ba3TXTY s CS203LLU 1
75 | JPFL203G N4 75wy kv PFL203 2
76 | BZ06016 F b 88 M6EX16 2
71 | WS06 NEFHZ 209 M6 2
78 NZ06 Fv b 8 2= M6 2
79 | 066672500M HA K 4
80 | DC020 ChHsbrAg Y7 2 4
81 140701100M 7 — &CP 1
84 | WRAI12 ESHA xR M2 1
85 | NNF12 75 vVFA4avFy b M2 1
86 | 140660100M o—3 1
87 | J6203LLU R—R_7 Y v7 6203LLU 1
88 | DHC040 CHsrA7 7TF+ 40 1
89 | DCO017 CH&vxw Y7 17 1
90 | 082675000M 27y T 1
91 | BZ06016 F bt 88 M6X16 1
92 | NZ06 Fv b 8 2va2 M6 1
93 | 079495000M FvvavTL—} 1
94 | 013290101M 759 FHRFY) VT 2
95 | NNF06 75 vIVFLtovFy b M6 2
96 | 142578000M HAK7Lv—46CP 1
97 | 1425830000 T — b 1
98 | 077392100M IN— 1
99 | BZ06016 A 88 M6X16 3
100 | WS06 SNEYFHR 209 M6 3




JCRO0850W
bOAINA T4 2T

065-0050-100!

RiEs| HaES #B o % i) = ]
101 | 105788000M FTAHAR 2
102 | 070398000M RFY T A 2
103 | BZ06035 A b 88 M6EX35 2
104 | NNF06 7o5vVFAuviy b M6 2
106 | WRAQ6 ESHHE M6 2
106 | PS060020 ATY v TEYy 6X20 2
107 | 143957000M T YT 1
108 | BSPZ08016 IHFZSWyFFEALL T MEX16 2
109 | WS05 NEYH R 2T M5 3
110 | 144060000M ATy VT 1
111 | BSZ08016 agyFEnr T M8X16 1
112 | NSZ08 aFr>y b 8 2v¥a M8 1
113 | WSA08 NERFHER JTv M8 1
114 | WRAO08 EIHHEX M8 1
115 | 059097000M 7y ¥y ; 20.6X3.2 1
116 | 046001100M Ty ¥ ;20 1
117 | 0858040000 N -




JCRO0850W
Ly bXA2F427 (1)

085-0050-1006

REES HaES il o % PR {EE5' & %
1 1407990000 J4sa-—5CP 1
2 140805100M LN —CP 1
3 PS060030W 27Y) vy F7aay 6x30 1
4 PS035030W A7) v ey F7uag 35X30 1
5 140810100M oy FCP 1
6 079334000M Ty ¥y 21X1.6 1
7 PC032032 7YY 3.2%X32 1
8 061847000M 7w ¥y 17X16 1
9 PC040025 7y 4X25 1
10 1349400000 27y vy 1
11 143986000M Ty F 1
12 ONB6 FY—2=y7N B M6 1
13 PC040025 JYEY 4X25 1
14 122668000M A/ 1
15 122685000M Z by 1
16 BSZ08025 aFyELF T M8X25 2
17 | RBT08025 FFvB 109 M8X25 1
18 | NSP08 aFIRATY v TFy b 4 M8 3
19 | BSZ08030 aFgyENLF T M8X30 1
20 | NSZ08 aKsFy b 8 2¥a2 M8 1
21 1226710004 v+ 7 bCP 1
22 | J6905LLU R—= 7Y 7 6905LLU 1
23 | DCO25 CHEZ b AT Yo 25 1
24 | HF2520 7TvozA735yF HF2520 2
25 J6904LLU F—_7 Y s 6904LLU 1




JCRO0850W
Ry bsA2F427 (1)

085-0050-10068

RS Ha®ES i Gn % i) {55 fi &l
26 | DCO20 CHyrAw Y27 20
27 140812000M 75797 —=4CP
28 | G25324 AA ¥~ G25X32x4

29 044214301M 7y ¥+ 20.6X1.0

30 | 060807100M Ty ¥y

31 BL8D Yvsd&E—n BLHSZ *R M8
32 122684000M =
33 NSZ08 agyF b 8 2va M8

34 | 000085200M N—F ¥V ;8X16

35 143948000M FY¥avyT7T—4CP

36 KBB-1810A A—FYFIA7TY) 7 A 18X20Xx10

BN [ bt [ bk | ot | QO | Q0 | bt | DO | DD | bt | bt bk ]t [t | DO | = | = | DO | e | et | et [ | DO | bt [

37 | DCO018 Chzr2v Vs 18

38 | ONAS FY—2=y 7 A M6
39 | 000034100M iRl v v s vy

40 | DCO012 ChHsbvrg v 12

41 140817000M E—FN—2

42 | BSZ08016 aFyFEE T MBX16

43 NSP08 AFFATY v rFw b 4 M8
44 1114650000 BEFE—7

45 | CP05016 +FRaxY MHX16

46 | WS05 NERFHE 209 Mb

47 | 132670000M R7Y v H2.3X11X95

48 | DE0O6 EXs AT 6

49 | BSZ08030 aFyFENME T MEX30

50 | NSZ08 aAFyFv b 8 22 M8




JCR0850W
Ry bMOF4a2T (1)

065-0050-1006

RiiEs HmFS #B s i) (= ] =l
51 143958000M 7—1Y ; A—62 1
52 | PS080050 27U vy 8X50 1
53 140818100M 7 5% v bCP 1
54 | 055032000M Ay FFNVE 88 MEXID 1
556 | NSP08 ARNGATY Ty b 4 M8 1
56 122656000M 7—YCP; A—¢6" 1
57 | VLAO028 V~wh LA-28 Avvy 1
58 | P5040025 ATy Ty 4X25 1
59 141929000M Ty ¥y 1
60 | WRAO8 EZHAEx M8 2
61 WRAO6 ES¥FHR M6 1
62 | WS06 NERYHR 23T M6 1




JCRO0850W
Ry bSAVF 42T (2)

085-0650-1607
RiEsS HmES # G ) %% 18
1 1439510004 v b7 L —4&CP 1
2 BSZ08020 aFFgENME T M8EX20 4
3 044097200M Ty ¥y ;8 4
4 NSPO08 AHFIATYVTFy b 4 M8 4
5 JB008LLU F—AXTY 7 6008LLU 2
6 DHC068 CHs A7 77 68 2
7 122633000M 0—3 1
8 J6301LLU F—=~7 Y s 6301LLU 2
9 WRAI12 ESHHX MI12 2
10 1226340000 Y7 b 1
11 | PC032016 JYEY 382X186 2
12 | BSZ10020 Iy ENr T MIOX20 2
13 | NSZ10 angsFvr 8 2¥a MIO 2
14 1 1408000000 VN — 1
15 | 075290100M Ty ¥y ;10 3
16 | WSAI10 NFRYAX 3TY MO 3
17 | BSZ10030 aFyFEnr 7T MIOxX30 3
18 | NSZ10 aAyFw b 8 2¥a MIO 4
19 | B5Z10025 aAyELE T MIOX25 4
20 132655000M Ny Iy 2
21 0934880000 Ty va ; 16X25 2
22 | ONC6 JYV—=2=y 7NV C M6 2
23 | 055474000M A7 FFNE 8.8 M8X20 4
24 | NSP08 AFIRATY T F e b 4 M8 4
25 114021000M A5 —;16.6X22X1.0 2

I
2o
o

|




JCR0850W
Ly MM ITF40T (2)

13944-2

065-0050-1007

REs| #mES #B & % i {2 18 =l
26 | 0883040000 ¥4 16.56X22X1.0 5
27 1408011004 F477—4sCP 1
28 1226390004 +17 1
29 122640000M FAT7TL— b 1
30 | BJ08030 +2%F % v 7B 109 M8x30 9
31 | WSAQ8 SRR 3Tv M8 9
32 | NSZ08 a#XFFy b 8 2¥a M8 9
33 122645000M 27 v H2.9X20X95.5 3
34 141929000M Ty ¥y 4
35 1439470004 v b4 FCP 1
36 | BSPZ08016 aFFSWyFHRLE T M8XI16 4




JCR0850W
Xy bTL—F

065-0050-1012

REES HmES # i # [} % T =l
1 122891000M [ 1
2 067118000M 27T TA 1
3 WRAI10 L Z¥FEHEX MIO 1
4 000085200M N—FE;8X16 1
9 140820000M TLv—F7 = 4uCP 1
6 124024000M LoN— 1
7 PS050020 A7) vy 5x20 1
8 0007220000 =Y ;12 1
9 1292520000 HARZTY 7 W0k g 2
10 | BSZ10016 aggFmt 7 MIOX16 2
11 | NSZ10 akgg+ b 8§ 2va MIO 2
12 | WRAIO ESH¥AR MIO 2
13 | PC032016 JYyEry 32X16 2
14 140822000M T VTN 2
15 140823000M =k 1
16 | BSZ08020 aAy R T M8X20 4
17 | NSP08 AFFRTY v IFy b 4 M8 4




JCR0850W

r7ay
13638
065-0032-1008
RS HmEHR B i 4 i) S 1 ]
1 133757000M 7—ACP; R 1
2 133761000M 7—=4CP; L 1
3 BZ12055 F b 88 MI2X5H5 2
4 NNF12 75vVFA4arFy b M2 2
5 000065200M £ B12X50 2
6 000086200M N—F ¥V ;12X2 2
7 1337620003 77— FCP 1
8 CAP027228 *9 v 7 21.2X28 2
9 000453000M FNEIEY ;9 2
10 1129130000 saxy b ;14 2
11 1337670004 gay FHAN-CP 1
12 | BSZ08045 aHyEnr T M8EX45 2
13 | NNF08 75 vIFAuarvFry b M8 2
14 . | 1337530003 7w vCP 1
15 1346580003 Tyav7 355y bCP 2
16 | WRAOS SR M8 4
17 | NSP08 AHFGRTY) v TF b 4 M8 4
18 | 000453000M FUFEY ;9 2




JCR0850W
BT aT

AITHB

s
e ————

/

/

7
~ ~el
1N \} < 1
7
8
RiES| BEES B & & 5 ] W %
1 1299421006 47 3
2 129943000M DS | 1
3 129944100M Y7 b2 1
4 129945200M Lox—CP 1
5 PS050032 27 TEY 5X32 1
6 000453000M FIEFEY ;9 1
7 098012000M Ty ¥y 23X3.2 3
8 PC050036 J YKy 5X36 3




JCR0850W

HIN—
30 1
085-0050-10
AHEs BREFES & o % FR % % =
1 1411330003 7ov hhN-CP, L 1
2 1411270003 7oV hhX—-CP, R 1
3 1308780000 =i AS S % 2
4 141140000M 7355 FCP; L 1
‘‘‘‘‘‘‘‘‘‘ 5 140972000M 754y hCP 1
6 BSZ08025 agyFENE T MBX25 4
7 NSP08 aHFZRTFY v ITFy b 4 M8 4
8 1408451003 = b A/x—CP 1
9 1181490000 =+ ;M8 4
10 10333782000 v 1
11 | WRAO8 ESH¥EAF M8 2
12 NSP08 aFIRTY v rFer 4 M8 2
13 1415680004 7545y FCP 1
14 BSPZ08025 aHFZSWYFEbE 7 MEX25 2
15 1411490003 7123=CP 1
16 CP06016 +FRaXY M6X16 2
17 NP06 27Y) v T+ b M6 2
18 WRAOQ6 ESY¥H R Mb 2
19 0333782000 Varva 1
20 WRAQ8 EsH¥H R M8 2
21 NSP08 ARy Iy b 4 M8 2
29 0793782000 SNWN—T TRy b 1
23 1404691003 by FA—=CP 1
24 BSPZ08016 aHFSWyFRbE 7 MEXI16 4
25 WRAOQ8 ESHYHER M8 4




JCRO0850W
F/N—

13948-2
065-0050-10

30

RiiEsS HmES B Ht = ) %k I
26 1404702003 EvYPHN—=CP; R 1
27 1404722003 ¥ PAN=CP;L 1
28 | BZ06016 R 8.8 M6X16 8
29 | WS06 NEYFH R 2T M6 8
30 1411481004 o — % fjN— 1
31 BSPZ08020 aIHISWYFFEE T M8X20 2
32 | WRAO8 LS M8 2
33 | 044097200M Ty ¥y 8 4
34 | PC032016 7YYy 32X16 1




JCR0850W

a7

RiES HmES R i & i) LEES 1 %
1 1405200106 v ) v, CSH35x210%X375 1
2 1034-04 F—2x VR F PFL/AXPTL 4 1
3 1006-04 w—ZARZA <N PFL/4XPTL 4 1
4 0009280000 ARy TNNT 14 1
5 KHO0401250AP |27 v & —2R 1,74%X1250 1—4 1
7 ILT150 A v¥any 754 2.5X150 2
8 ILT250 A vvany 7 yA4 48X201 1
9 1033-04 F—-2xz WK PFI/4XPT1 4 1
10 2088-04 AR R NVE PT1/4 1
11 0005260000 T7—~T Y= 1
12 BZ16080 Aar 88 MI16X80 2
13 NN16 FA4avre b M6 2
14 0887210000 AL GWF a—T 2
15 1251850000 JoAvy b ¢30 2




JCR0850W

AF4—%

13
5 d
13947-3
065-0050-1010
RiES HmES i Hh % i) %k 1 &l
1 143979000M ¥+ 7 hCP 1
2 1439850000 R7Y v H2.3X1TX140 1
3 BSZ08025 aHFgFENME T MEX25 1
4 NSZ08 aHnsgFy b 8 2¥a M8 1
5 1404610004 7 v— +CP 1
6 PS5050022 RATY v TEY hX22 2
7 140464100M 7 —&CP 1
8 096757000M ¥ b7 25.6X0.6 -
9 DC025 Chsrrw Y7 25 1
10 140468000M oy K 1
11 | 000085200M N—F v 8X16 1
12 | PC032016 JYEy 82X16 1
13 130191000M 7y ¥ 1 16.5X1.0 2
14 | 0951061000 ¥ 401 26.6X0.2 -




JCR0850W

FoJokey

10

&
(&)
A <
NA T 1’ > '7 A S
®- \
9 3 4
@ 5
/PN
A
Y %\;
13951-3
BHEE] M EE ® & i B 1 %

1 1450660000 vy a—F 1

3 1038750000 TNy JAN—Z 10

4 ILT150 Avyany 244 35xX152 10

5 1400860000 FvEyEyH ; NC 1

6 CP03016 +F~NaxY M3X16 2

7 NAO3 v b 4 2= M3 2

8 WS03 SNRFH R 20T M3 2
9 130496000M 7507 2 | JCRO850WT
10 1450610000 avbo— WKy 7R, F7A YV 1| JCRO850WT
1450620000 aviba—By IR, Xy b 1| JCROBS0OWN




JCR0850W
NI

RES HmES #B fi % R fE%k 18
1 1410440000 NN, FavkA 1 1
2 1337740000 SR Favkl 6 1
3 1064190000 SN r4as 38 1
4 1064850000 SNG4 ag 11 2
5 1064890000 TNV TAas b 1
6 1064980000 SN g4 as 84 2
7 1065370000 FRNV S Aay 123 1
8 1241050000 TNV FavA 2 1
9 0009350000 NV Ve 50 R—T701008QS 2
10 1064790000 SRV TG4 ay 65 1
11 1418440000 I RS54 7R (STAR) 1
12 1418450000 TN RFTAT 1
13 1429240000 Z ~Ub ; 0850W 1
14 1410921000 FAAL BTNV I 1| JCRO85OWT
15 1410930000 PRV 2N S 1| JCRO850WN




JCRO0850W
hovy (FTav)

AT AT I — LaLf /;/

13957-1
RiEs Hm%FS #B B R %k {#& El
ASY | 1403990000 H vy AS
1 1234640000 Aoy R 1
2 CP03010 +FNaxY M3IX10 4
3 WS03 NAFA X 2T M3 4
4 NAO3 Fwvb 4 2¥a M3 4
5 141472000M T VI 1
6 BZ06012 F k88 M6X12 2
7 W06 NRFHX 25T M6 2
8 WRAQ6 EIHAEx M6 2
9 141473000M oy F 1
10 | BSZ08030 aNyEvr 7T M8EX30 1
11 | WRAQ08 EI¥ARx M8 1




{113
k=t

%

S-080708E

Zi %t 066-8555
FTREEEP 0668555
EEEEXF 0984100
w=ILE ¥R 0802462
FRIRIEESRFT  086-1152
fEEE £ 0283172
s E %P 93830013
INLE 2R 323-0158
W& EFF 700-0973
RRAEEPT 8618039

Z i = E P 885-1202

TEHLEEHLIOG 1 F M 2
TELO123-26-1123
FAXQO123-26-2412
FTE T EE®RH LI OGE6 1 F H 2
TELO123-22-5131
FAXQ123-26-2035
RIEMEEME YO 1191FH#44
TELO162-82-1932
FAXO162-82-1696

WIATWE 224%d 1 TH12 FH# 4
TELO155-37-3080
FAXO155-37-5187
ZEMPEENGN 2 TH16 & 2
TELO153-72-2624
FAXO153-73-2540
EFEETABAITILFMRE L1 HE 12053
TELO198-46-1311
FAX0198-45-5999
EREMNETERE X M 179-1
TELO22-388-8673
FAXQ022-388-8735

oA B NI R 2512 -1
TELO285-49-1500
FAX0285-49-1560

B EMILTE FHPEHE 704-103
TELO86-243-1147
FAX0O86-243-1269
RRABRATESEE I TH2EH1 S
TELO96-381-7222
FAX086-384-3525
EGERETERITEMEE1003-2

TELOS86-53-2222
FAX0986-53-2233

T.20. 07. 5S®



